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3/6 - Solving Systems using Elimination

Intersecting
What if you can't solve one equation s
for one variable without getting fractions? :

x-axis

This is the only type
today.

We need a new method...







Steps:

1:

2. Add equations

3. Solve for the variable

4. Substitute into an equation with
both variables

5. Solve for the variable

6. What's the point?
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Steps:

1. Change the signs of one

equation to make the coefficients

on one variable opposites.

2. Add equations

3. Solve for the variable

4. Substitute into an equation with
both variables

5. Solve for the variable

6. What's the point?
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Steps:

1. Change the signs of one

equation to make the coefficients

on one variable opposites.

2. Add equations

3. Solve for the variable

4. Substitute into an equation with
both variables

5. Solve for the variable

6. What's the point?
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Steps:
1. Multiply one equation by whatever it

takes to make the coefficients on one

variable opposites.

2. Add equations

3. Solve for the variable

4. Substitute into an equation with
both variables

5. Solve for the variable

6. What's the point?
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A4.(C2x+2y=2)
8x+9y=9
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Steps:
1. Multiply one equation by whatever it

takes to make the coefficients on one

variable opposites.

2. Add equations

3. Solve for the variable

4. Substitute into an equation with
both variables

5. Solve for the variable

6. What's the point?
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—8x +9y =25
2-(4x+3y=-5

Steps:
1. Multiply one equation by whatever it

takes to make the coefficients on one

variable opposites.

2. Add equations

3. Solve for the variable

4. Substitute into an equation with
both variables

5. Solve for the variable

6. What's the point?
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